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=) 1,263,000 1,263,000 0
Al 17,962,345 19,133,345 A 1,171,000
CRUSY =HE 7,665,160 7,065,160 600,000
< 120,000 120,000 0
Al 7,545,160 6,945,160 600,000
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2w THotd 1,103,780 603,780 500,000
401 AIEHI L 2 0] 1,103,780 603,780 500,000
01 A& HI 1,100,000 600,000 500,000
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m(AHHEZ2HZ 2008+ ) 1,100,000 600,000 500,000
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sHEEZ | 3,825,840 3,725,840 100,000
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Al 3,705,840 3,605,840 100,000
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401 Al HI K 2018 603,600 503,600 100,000
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OTUR2025 (ME~ME) & EHSA(L=0.6kn B
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X Sope 1,826,248 1,946,248 A 120,000
=) 40,000 40,000 0
Al 1,786,248 1,906,248 A 120,000
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401 Al HIZ 201 I 462,648 582,648 A 120,000
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401 AIEHIZL 20 825, 166 825, 166 0
01 A& HI 820,000 820,000
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